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THE CRITIC.

CHESS. 23 K to B2 Q to K2 g Wo disapprove of thisalso. The | will sco by the one given below, he
L — ] 24 Qto BS Q takes Q (n) [propor continustion was 10 Q to I{2overlooked an important variation :

M0 communications for this depatment|9) ¢ takes Q KRtoQKt  [(if 10 Bto KKt5,11 P to KR3; B] 16 11 18 14(c)8 1210 15
' Windsor, ¥.8.[26 P to Kt3 R to Ku2 takes Kt, 12 Q takes B. followed by [(1)23—27 27—23 19—2327—-13
- , eem— . 27 Bto Q2 R to Kt4 (o) Ktto KB5; andif 10 Ktte K, 11 P| 11 16 12 8 12 1615 19

e e e o Clronyia |28 R takes R P takes R to QB3; P to KB4, 12 Ptakes P;| 13—23 23—19 23272310

thoso subscribors who shall send in the great. | 29 R to R6 P to B3 B takes P., 13 Kt takes B; Rtakes} 15 18 ()8 3 16 2020 11

est number of currect sulutiuns «hlrini: the|30 13 10 Kud K to K3 Kt, 14J0 to Q4; Ptakes P, 15 Ptakes| 13—17 19-—16 27-3230-2¢

owrrent year.  Noeutranco feo required.  f3) 144 15 Bto K P; Bto Kt3, 16 Qto QB4 (ch), fol-| 30 26(b) 3 8 14 1025 22

TO CORRESPUNDENTS. 32 R takes I’ R takes R lowed by Q takes P winning), 11 Kt| 23—30 156—19 32—27 drawn,
o — |33 Btakes D to Q2 to KR4, Bto KKt 5, 12 Kt (R4) to Var. L.

o ution to Problom Xo. 42.—K to)34 K 1o k3 Lol KB5; Qto Q2,13 Q to X, followed | o519 1895 2018 15—18
. . 35 Kto Qf K10 Q2 by P to KR3. 3 v g 0 or
Solution to Problom No. 43.—B to}36 1 10 Ki6 PloRib (p) | & Evow mow 11 Q to K2, fol.| 18 38 3 1 .0 &3 2 e

Q3. ) 37 Bto BS Bto R3 (ch) Jlowed up as we have shown, would 16—11 “7 10 13 i'7 )
Correct solutions of the abovo ro-138 ¥ 1o B2 B to B3 have boon bottor. 10 1 23 29—

ceived from Mrs. T, Moseley, J. W.139 33 takes P B takes P i 1715 Kttakes Kt; P takes Kt,{ 10 3 o 14 17 29

Wallaco aud W, J. Calder. 10 Bto K B to BS 16 B to K3; B to K3, followed by B| 1517 a5_28 1815
Solution to No. 41 received from|yy 1{ 1y B3 B to R3 to Qt and with bishops on diflerent | o5 99 14 “9 03 99

A. Budler, correct, but too late for|ya K 10 Kug P to Kt3 (q) |colors tho gamo would probably have (d)2% =22 e

competition list. 43 Kto Bj B to Q6 boen drawn. ‘Tho toxt move i3 very ¢

PronLEx No. 45. 44 K to Ki6 B to B7 woll played. 4 9 9 14 29 22 Dblack
“Torquay Directory.” 45 P to R4 K to B (r) j Weak. The proper move was 16 | 19—15 30—26  15—11 wins,
BrACK—9 picces. 46 Pto RS B takes P Bto Q2 17 P to KB4; P to KKt3, b
47 P to R6 Kto Kt 18B1oQ2; RtoK,19 BtoQR5;1 3 7 7 2 14 7 black
48 P to K6 P to B4 R to QKt, followed by Rto Kt 2and |15 __10 30-26 21—30 wins.
9P tak]es P P to Q5 draws. c
50 P to K7 Resigns. k Forced, as White threstens 18 B ;
Notes (translated from La Repub-|to QKt 4. If 17 Pto KB3, 18P to| 8 11 *17—=22 25 18 19-—-15
liyue Francaise) by M. S. Rosonthal,] KB4 would lead to the same position black wins.
Paris. a8 in the text. *
« The proper move. 1f 3 B to| I Wodisapprove of this, Theonly|19__15 17--22 2229 30--25
B4, 4 Kt takes P ; B takes P (ch) (if | propor coutinuation was 19 Rto QKt, |1 18 14 17 17 22 drawn.
1 Xt &nkesé{t,(g P ;o Q4 ; BtakesP,|20 B to QR5; Rto Kt 2,21 Rto B3; . d
6 Qtakes B; Qto KB3.7 Bto K3;|QtoK3, 22 R to Kt 3; KR to K, 5
Kt to B3, 8 Q to Q2; KKt to K2, 9|with an equal game, 3 _.?, :2;(95—‘2)?; 59 :13'(*) %?;{5
P to KB4 ; Castles, 10 Bto Q3; P| m Ir21 QR to Kt, 22 Rto QKt 3;|17—322 155 41 93 i
Q3, 11 Castles QR, with tho better|R to QKt 4, 23 R takes R; P takes| 7 10 21—29 < wins.

Winte—11 pieces
White to play and mate in 2 moves.

ProsrLey 46.
“ Morning Post.”
Brack—2 piecos.
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WHITE—Y pieces.
White to move and mate in 3 moves.

Gaxe No. 34.
Played in the DBradford Inter
national Tournament.
RUY LOPEZ.

WuiTe. Brack.

C. von. Bardeleben. G. H. Mackenzie.

1 PtoK¢ Pto X4

2 Kt to KB3 Kito QB3

3 Ktto B3 Kt to B3 (a)

4 Bto Kt5 (b) B to Ktb (c)
5 Castlos Castles

6 P to Q3 (d) P to Q3 (o)

7 B takes Kt Piskes B

8 Ktto K2 () Pto KR3

9 Kt to Ki3 B o QB4
10 Pt» B3 (g) B to K13
11 Pto Q4 (h) P takes P
12 Kt takes P B takes Kt
13 Ptakes B P o Q4

14 Pto K5

Kt o K3
15 Qto B2 (i)

Kt takes Kt

16 RP takes Kt Q to K (j)

17 Bto Q2 P to KB4 (k)
1S QR te R Btu Q2

19 Pto B4 Qto K3 (1)
20 Bto R5 KRt B

2l R I3 T to Il4 (m)
22 Rto R3 K to B2

pame,) 0 K takes B Kt takes Kt,

Kt to KKt5, 8 Q to Q2 (obviously

Q, 11 Q to KKt5, and wins.

b The toxt move brings back the
opening to tho Ruy Lopez. The usual

attack 18 4 P to Q4; B to QK15, 5

to Q5; Ktto K2,6 Kt takesP; P to
Q3 (if 6 Kt tukes KP, 7 Q to KB3,
Kt to KB3, 8 Bto KKt5; Kt(K2)
takes P, 9 Bto QBY; P to QRB3, 10
B takes Kt; P tikes I}, 11 Castles
QR, with tho advauntage,} 7 B to QKtd
(ch); Pto QB3, SP takes P; Castles,

9 P takes P; B takes P, 10 Kt

KB3 (if 10 Kt to Q3; B takes Kt
:(ch,) 11 P takes B ; Kt takes P, 12
to Q2; Kt takes B, 13 Q takes Kt ;
B takes P, 14 R to KKt; B to K5,
followed by B to KKit3, with the
better game); Kttakes P, 11 B to Q2;
Kttakes B, 12 Q takes Kt ; Q to QR4.
13 B t0Q3; Ktto Qior QR to QB,

with the better game.

8§ Castles, followed by P to K5.

lowing note.

to @3 would have been botter.
¢ Wo disapprove of tlis,

B 1akes Kt, 7 P takes B; P 10 Q3,
B takes Kt (if § B to KKi5; B
KIi, followed by Kt to 2, with

advantago,

Pto@t; Qto KB3 (ch,) 7 K to Kt,

8 @ takee Krt; Q takes P (ch,) and
mates next move); Pto Q3,9 P to
KR3; KttoR3, 10Kt 10 Q5; Q to

¢ 1f4 B to B4, 5 Kt takes P; Kt
takes Kt (if 5 B takes P (ch). 6 K
takes B; Kt takes Kt, 7 P to Q4 ; Kt
(K4) to Kt5 (ch), § Kto Kt, Kt to
R3 with the better game), 6 P to Q4 ;
B takes P, 7 Q takes B ; Kt to KK13,

d The text losos the advautage of
the move, as will bo seen by the fol-
The usual course, 6 Kt
10 Q5 ; Kttakes Kt (if 6 B to K27
Kt takes Kt (ch), followed P to Q3
with a slight advantago), 7 I’ takes Kt ;
PioK5s,8KttoK; Kt toXK 2,9P

Black
might have equalized the game by 6

least an equal game); I takos I3, &c.

J Well played, taking immediate
advantage of the Inst weak move.
Aftor duubling his advorsary's pawn,
White pusts Lis kuighis tu tho best

6 R, 24 B takes P. with ths better game.

n Wo should have preforred 24 Q

to Q, 25 B to Q2, Pto Q R3, followed
by P to KR5.

if
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DRAUGHTS-CHECKERS

AllCliecker communications and exchanges
should Lo addressed to \V. Forsyth, 36
Grafton Street, Halifax.

‘I'ne proprietors of THE CriT1o offer two
prizes —to consist of bouks on Checkers—to
those subscribers who shall send in the great
est numnber of correct relutions during the
current year., No entrance fee required.

p

TO CORRESPONDENTS.

S. C. Hoop, Yarmouth.—We can-
not recogmze the fow moves that you
give as a solution to Problem 62, as
the difliculty of the position is not
esven touched. The samo remark also
applies to No. 66.

to

B

CORRECTION.

An orror occurted in our statement
of Prublem 63, in that a blick man
that should have been on 20 was
omitted. The problem arises from
the following

Game XVIL
¢ Second doublo corner.”

11—-15 5—14 811 11-16
24 19 25 22 18 9 21 17
15—2¢ 11-15 6—-13 1620
28 19 32 28 29 25 31 27
8—11 15-2¢ 1116 2—-17
22 18 28 1Y 27 24 *30 25
9~14 4—-8 7-=11

18 9 22 18 25 22

® This forms Problem 65 1o which
tho corrected position is :—black men
1, 3, 7, 10, 12, 13, 15, 20; white
wen 17, 19, 22, 23, 24, 25, 26. 27;
black to play and win. Again we
invite half-a-dezon Nova Scotia players
to solve this problem.

8
to
at

SoLuTioxNs.
Propuest 64. —The position was:—
black men 13, 18, 21, kg. 23 ; white
men 12, 25, 30, kg. 16; white tc play

2, 25,
and draw. Mr. Houd’s solution ias

Ve have received no replies to GG,
and will wait till next week before
publishing thesolution.  The position
was :—black men 2, 3, 6, kg. 30-
white mon 12, 13, 22, kg. 11 ; black
to play and win,

Proprey 69.
By Isainh Barker, Cambridgepor,
Mass., in Boston Globe.
Black men—6, 7, 8, 12.

¥2.5
", 70 o

Whito men—16, 17, 19, 22.
White to play and draw.

ProsLey 70.

By Wm. Koellor, Columbus, Ohio, in
Boston Globs.

Black men—3, 14, 17, kg. 31.
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White men—10, 21, 25, kg. 23.
Black to play and draw.
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